

Correspondence
Haya Ruchvarger
Department of Mathematics, Sami-Shamoun Academic College of Engineering, BeerSheva, Israel.

- Received Date: 15 Nov 2023
- Accepted Date: 22 Nov 2023
- Publication Date: 26 Nov 2023


## Keywords

Elliptical eye lens, Elliptical coordinates, Telescopic eye lens, Variable point radius, Central vision, Peripheral vision.

## Copyright

© 2023 Authors. This is an open- access article distributed under the terms of the Creative Commons Attribution 4.0 International license.

# Ellipsoid Lens that Makes up the Telescopic Eye Lens 

Haya Ruchvarger<br>Department of Mathematics, Sami-Shamoun Academic College of Engineering, Beer-Sheva, Israel


#### Abstract

In this article we propose an elliptical structure with elliptical coordinates and a variable point radius, for each eye lens that makes up the telescopic eye lens. In which the telescopic eye lens are proposed for the aid of age macular degeneration (AMD), eye disease that causes the loss of central vision that explained in article. The reason for the varying point radius in each lens is so that each eye will have clear vision from near and far, central vision and peripheral vision.


## Introduction

In the article [1] we presented cylindrical and spherical coordinates, and in articles [2,3] we presented mirror eye lens and telescopic eye lens consisting of 3 lenses with a variable point radius eye lens for the aid of age macular degeneration (AMD) but we did not present the structure of the lens. The mirror lens is impractical because light is required in the spring that does not exist.

In this article, we propose an elliptical structure with elliptic coordinates with a variable point radius, for each lens that makes up the telescopic lens.

Developments for determining variable point radii and the location of minimum and maximum radii in the elliptical lens with elliptical coordinates according to Figure 1


Figure 1. Elliptical coordinates

$$
\begin{aligned}
& \frac{x^{2}}{b^{2}}+\frac{y^{2}}{a^{2}}+\frac{z^{2}}{a^{2}}=1, \quad x=b \sin (\theta) \cos (\varphi), \quad y=a \sin (\theta) \sin (\varphi), \quad z=a \cos (\theta), \quad a \gg b>0 \\
& \text { Where }: z=0 \Rightarrow \theta=\frac{-}{2} \Rightarrow x=b \cos (\varphi), \quad y=a \sin (\varphi)
\end{aligned}
$$

According to appendix $A$ where $f$ is the eye lens focus:

$$
\begin{aligned}
& x^{\prime}(\varphi)=-b \sin (\varphi) \Rightarrow x^{\prime \prime}(\varphi)=-b \cos (\varphi) \quad, \quad y^{\prime}(\varphi)=a \cdot \cos (\varphi) \Rightarrow y^{\prime \prime}(\varphi)=-a \cdot \sin (\varphi) \\
& r(\varphi)=\frac{\sqrt{\left(\left(x_{\varphi}^{\prime}\right)^{2}+\left(y_{\varphi}^{\prime}\right)^{2}\right)^{3}}}{\left|y_{\varphi \varphi}^{\prime \prime} x_{\varphi}^{\prime}-x_{\varphi \varphi}^{\prime \prime} y_{\varphi}^{\prime}\right|}=\frac{\sqrt{\left(b^{2} \sin ^{2}(\varphi)+a^{2} \cos ^{2}(\varphi)\right)^{3}}}{a b \cdot \sin ^{2}(\varphi)+a b \cdot \cos ^{2}(\varphi)}=\frac{\sqrt{\left(b^{2} \sin ^{2}(\varphi)+a^{2} \cos ^{2}(\varphi)\right)^{3}}}{a b} \\
& r(\varphi) \max =r(0)=\frac{a^{2}}{b} \Rightarrow f \min , \quad r(\varphi) \min =r\left(\frac{\pi}{2}\right)=\frac{b^{2}}{a} \Rightarrow f \max , a^{2}>b, b^{2}<a
\end{aligned}
$$

## Mathematical proof:

$$
\begin{aligned}
& r^{\prime}(\varphi)=\left(\frac{\sqrt{\left(b^{2} \sin ^{2}(\varphi)+a^{2} \cos ^{2}(\varphi)\right)^{3}}}{a b}\right)^{\prime}=\frac{3 \sqrt{b^{2} \sin ^{2}(\varphi)+a^{2} \cos ^{2}(\varphi)}}{2 a b}\left(b^{2}-a^{2}\right) \sin (2 \varphi)=0 \\
& \sin (2 \varphi)=0 \Rightarrow \varphi=0, \varphi=\frac{\pi}{2} \quad, \quad r^{\prime \prime}(\varphi)_{\varphi=0}=\frac{3}{4 b}\left(b^{2}-a^{2}\right)<0 \Rightarrow r(\varphi) \max =r(0)=\frac{a^{2}}{b} \\
& r^{\prime \prime}(\varphi)_{\varphi=\frac{\pi}{2}}=\frac{-3}{4 a}\left(b^{2}-a^{2}\right)>0 \Rightarrow r(\varphi) \min =r\left(\frac{\pi}{2}\right)=\frac{b^{2}}{a}
\end{aligned}
$$

Where: $y=0 \Rightarrow \varphi=0, \quad \pi \Rightarrow x=b \sin (\theta), \quad z=a \cos (\theta)$
According to appendix $B$ where $f$ is the eye lens focus:

$$
\begin{aligned}
& x^{\prime}(\theta)=b \cos (\theta) \Rightarrow x^{\prime \prime}(\theta)=-b \sin (\theta) \quad, \quad z^{\prime}(\varphi)=-a \cdot \sin (\theta) \Rightarrow z^{\prime \prime}(\theta)=-a \cdot \cos (\theta) \\
& r(\theta)=\frac{\sqrt{\left(\left(x_{\theta}^{\prime}\right)^{2}+\left(z_{\theta}^{\prime}\right)^{2}\right)^{3}}}{\left|z_{\theta \theta}^{\prime \prime} x_{\theta}^{\prime}-x_{\theta \theta}^{\prime \prime} z_{\theta}^{\prime}\right|}=\frac{\sqrt{\left(b^{2} \cos ^{2}(\theta)+a^{2} \sin ^{2}(\theta)\right)^{3}}}{\left|-a b \cdot \cos ^{2}(\theta)-a b \cdot \sin ^{2}(\theta)\right|}=\frac{\sqrt{\left(b^{2} \cos ^{2}(\theta)+a^{2} \sin ^{2}(\theta)\right)^{3}}}{a b} \\
& r(\theta) \max =r\left(\frac{\pi}{2}\right)=\frac{a^{2}}{b} \Rightarrow f \text { max, } \quad r(\theta) \min =r(0, \pi)=\frac{b^{2}}{a} \Rightarrow f \min , \quad a^{2}>b, b^{2}<a
\end{aligned}
$$

Mathematical proof:

$$
\begin{aligned}
& r^{\prime}(\theta)=\left(\frac{\sqrt{\left(b^{2} \cos ^{2}(\theta)+a^{2} \sin ^{2}(\theta)\right)^{3}}}{a b}\right)^{\prime}=\frac{3 \sqrt{b^{2} \cos ^{2}(\theta)+a^{2} \sin ^{2}(\theta)}}{2 a b}\left(a^{2}-b^{2}\right) \sin (2 \theta)=0 \\
& \sin (2 \theta)=0 \Rightarrow \theta=0, \theta=\frac{\pi}{2}, \quad r^{\prime \prime}(\theta)_{\theta=0}=\frac{3}{4 a b}\left(a^{2}-b^{2}\right)>0 \Rightarrow r(\theta) \min =r(0, \pi)=\frac{b^{2}}{a} \\
& r^{\prime \prime}(\varphi)_{\varphi=\frac{\pi}{2}}=\frac{-3}{4 a}\left(a^{2}-1\right)<0 \Rightarrow r(\theta) \max =r\left(\frac{\pi}{2}\right)=\frac{a^{2}}{b}
\end{aligned}
$$

The relationship between point radius of eye lens and focal distance in the lens $f$, according to figure 2.


Figure 2. Radius of eye lens and focal distance in the lens

$$
\begin{aligned}
& h=\lim _{\delta \rightarrow 0}(R-\delta) \cdot \tan (\theta)=\lim _{\delta \rightarrow 0}(f-\delta) \cdot \tan (2 \theta) \\
& R \cdot \tan (\theta)=f \cdot \tan (2 \theta)=f \frac{2 \sin (\theta) \cos (\theta)}{\cos ^{2}(\theta)-\sin ^{2}(\theta)}=f \frac{2 \tan (\theta)}{1-\tan ^{2}(\theta)} \\
& R \cdot \lim _{\theta \rightarrow 0} \tan (\theta)=R \cdot \theta=2 f \cdot \lim _{\theta \rightarrow 0} \frac{\tan (\theta)}{1-\tan ^{2}(\theta)}=2 f \cdot \theta \Rightarrow f=\frac{R}{2}=\frac{r}{2}
\end{aligned}
$$

The usefulness of a telescopic lens consisting of elliptical lenses with a variable local point radius is shown in figure 3 .


Figure 3. The benefit of a telescopic lens consisting of elliptical lenses with a variable local point radius

## References

1. Ruchvarger H. Derivations of Vector Area and Volume Elements in Curved Coordinate Systems for Flux Vector Fields Helping Eye Disease. Journal of Applied Mathematics and Physics. 2022;10,2906-2922.
2. Ruchvarger H. Intraocular Lens Implant with Mirrors and Intraocular Three Lenses Implant with a Changed Curvature Radius. Applied Physics Research. 2012;4:135-140.
3. Haya R, Isaac L. Intraocular Lens Implant with Mirrors. US Patent No. 6902577. 2005
4. Jaffe GJ, Westby K, Csaky KG, et al. C5 Inhibitor Avacincaptad

Pegol for Geographic Atrophy Due to Age-Related Macular Degeneration: A Randomized Pivotal Phase 2/3 Trial. Ophthalmology; 128:576-586.
5. Liao DS, Grossi FV, El Mehdi D, et al. Complement C3 Inhibitor Pegcetacoplan for Geographic Atrophy Secondary to AgeRelated Macular Degeneration: A Randomized Phase 2 Trial. Ophthalmology. 2020;127:186-195.
6. Singer MA, Amir N, Herro A, Porbandarwalla SS, Pollard J. Improving quality of life in patients with end-stage age-related macular degeneration: focus on miniature ocular implants. Clin Ophthalmol. 2012;6:33-39.

## Appendix

## Appendix A (Appendix in Article [2])

A variable point radius for a line where:

$$
z=0, y=y(x), \quad r(x)=\frac{\sqrt{\left(1+\left(y^{\prime}(x)\right)^{2}\right)^{3}}}{\left|y^{\prime \prime}(x)\right|}
$$

and where: $\quad \vec{r}(t)=x(t) i+y(t) j$

$$
\begin{aligned}
& y^{\prime}(x)=\frac{d y}{d x}=\frac{d y}{d x} \cdot \frac{d t}{d t}=\frac{d y}{d t} \cdot \frac{d t}{d x}=\frac{y_{t}^{\prime}}{x_{t}^{\prime}} \Rightarrow \sqrt{\left(1+\left(y^{\prime}(x)\right)^{2}\right)^{3}}=\frac{\sqrt{\left(\left(x_{t}^{\prime}\right)^{2}+\left(y_{t}^{\prime}\right)^{2}\right)^{3}}}{\left(x_{t}^{\prime}\right)^{3}} \\
& y^{\prime \prime}(x)=\frac{d}{d x}\left(\frac{d y}{d x}\right)=\frac{d}{d x}\left(\frac{d y}{d x}\right) \cdot \frac{d t}{d t}=\frac{d}{d t}\left(\frac{y_{t}^{\prime}}{x_{t}^{\prime}}\right) \cdot \frac{d t}{d x}=\frac{1}{x_{t}^{\prime}} \frac{d}{d t}\left(\frac{y_{t}^{\prime}}{x_{t}^{\prime}}\right)=\frac{y_{t t}^{\prime \prime} x_{t}^{\prime}-x_{t t}^{\prime \prime} y_{t}^{\prime}}{\left(x_{t}^{\prime}\right)^{3}} \\
& r(x)=\frac{\sqrt{\left(1+\left(y^{\prime}(x)\right)^{2}\right)^{3}}}{\left|y^{\prime \prime}(x)\right|} \Rightarrow r(t)=\frac{\sqrt{\left(\left(x_{t}^{\prime}\right)^{2}+\left(y_{t}^{\prime}\right)^{2}\right)^{3}}}{\left\lvert\, y_{t t}^{\prime \prime x_{t}^{\prime}-x_{t t}^{\prime \prime} y_{t}^{\prime} \mid}=\frac{\left|r^{\prime}(t)\right|^{3}}{\left|r^{\prime}(t) \times r^{\prime \prime}(t)\right|}\right.}
\end{aligned}
$$

